General Algebra 11
Lesson #2 Unit 2
Notes #2
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Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1
N

¥
8. The line with slope -3/4 through (-8, 1)

oblique line — y=mx+b m=-34 b=?
We are not given the y-intercept.

We will use the point-slope equation.

Y-y =mx-x)
y-1=3(x-



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1
N

¥
8. The line with slope -3/4 through (-8, 1)

oblique line — y=mx+b m=-34 b=?
We are not given the y-intercept.

We will use the point-slope equation.

Y-y =miXx-x,)
y-1=3(x--8)



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1
N

¥
8. The line with slope -3/4 through (-8, 1)

oblique line — y=mx+b m=-34 b=?
We are not given the y-intercept.

We will use the point-slope equation.
Y-y =m(Xx-x,)
y-1=3(x--8)
y—1=3(x+8)



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1
N

¥
8. The line with slope -3/4 through (-8, 1)

oblique line — y=mx+b m=-34 b=?
We are not given the y-intercept.
We will use the point-slope equation.
Y-y, =mXx-x,)
y-1=3(x--8)
y-1=2(x+8)
y—-1=



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1
N

¥
8. The line with slope -3/4 through (-8, 1)

oblique line — y=mx+b m=-34 b=?
We are not given the y-intercept.
We will use the point-slope equation.
Y-y =m(Xx-x,)
y-1=3(x--8)
y-1=2(x+8)

_ 3
y—-1=7x



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1
N

¥
8. The line with slope -3/4 through (-8, 1)

oblique line — y=mx+b m=-34 b=?
We are not given the y-intercept.
We will use the point-slope equation.
Y-y, =mXx-x,)
y-1=3(x--8)
y-1=2(x+8)
y-1=3x-6



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1
N X

8. The line with slope -3/4 through (-8, 1)
oblique line — y=mx+b m=-34 b=?
We are not given the y-intercept.
We will use the point-slope equation.
Y-y =m(Xx-x,)
y-1=3(x--8)
y-1=2(x+8)
y-1=3x-6

y=



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1
N X

8. The line with slope -3/4 through (-8, 1)

oblique line — y=mx+b m=-34 b=?
We are not given the y-intercept.
We will use the point-slope equation.

Y=Yy = m(x—x)

y-1=3(x--8)

y—1=%(x+8)
y-1=3x-6
3
y=7%X



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1
N

¥
8. The line with slope -3/4 through (-8, 1)

oblique line — y=mx+b m=-34 b=?
We are not given the y-intercept.
We will use the point-slope equation.
Y-y, =mXx-x,)
y-1=3(x--8)
y-1=2(x+8)
y-1=3x-6

y=%x—5



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy M
: : R 4 _B3x_ 5
8. The line with slope -3/4 through (-8, 1) y=3X

oblique line — y=mx+b m=-34 b=?
We are not given the y-intercept.
We will use the point-slope equation.
Y-y, =mXx-x,)
y-1=3(x--8)
y-1=2(x+8)
y-1=3x-6

y=%x—5



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

8. The line with slope -3/4 through (-8, 1) Y= X— S

oblique line — y=mx+b m=-3/4 b=7?
We are not given the y-intercept.
We will use the point-slope equation.
y—-y =mXx-x)
y-1=3(x--8)
y-1=3(x+8)
y-1=3x-6

y=%x—5



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

9. The line with slope 2/3 through (4,-3)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

9. The line with slope 2/3 through (4,-3)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

9. The line with slope 2/3 through (4,-3)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

9. The line with slope 2/3 through (4,-3)

oblique line



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

9. The line with slope 2/3 through (4,-3)

oblique line — y=mx +b



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?

Use the point-slope equation.



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = m(x—x)



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1

N K
9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = m(x—x)



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1

N K
9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = m(x—x)

y—--3=



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1

N K
9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = m(x—x)

_ 2
y—=2=73



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1

N K
9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = m(x—x)

y--3=30-4



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1

N K
9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = m(x—x)

y--3=30-4



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1

N K
9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = m(x—x)

y--3=30-4



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1

N K
9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = m(x—x)

y--3=30-4



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1

N K
9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = m(x—x)

y--3=30-4



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1

N K
9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = m(x—x)

y--3=30-4



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1

N K
9. The line with slope 2/3 through (4,-3)

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = m(x—x)



General Algebrall CWS#2 Unit 2

Write the equation of each line described.

If the line is oblique, use slope-intercept form.
Xy Y1

4

. . x _2v_17
9. The line with/slope 2/3 through (4, -3) y=3X—3

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = m(x—x)



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

_ 2 17
9. The line with slope 2/3 through (4, -3) y=3X*—3

oblique line — y=mx+b m=2/3 b=7?
Use the point-slope equation.

Y=Yy = mXx-Xx)



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

10. The line through (2,-3)and (2,0)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

10. The line through (2,-3)and (2,0)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

10. The line through (2,-3)and (2,0)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

10. The line through (2,-3)and (2,0)

vertical line



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

10. The line through (2,-3)and (2,0)

vertical line — x=k



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

10. The line through (2,-3)and (2,0)

X =2

vertical line — x=k



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

10. The line through (2,-3)and (2,0)

X =2

vertical line — x=k



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0) and (-4,-3)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0 ) and (-4,-3)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0) and (-4,-3)




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0) and (-4,-3)

The line is not vertical.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0 ) and (-4,-3)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0) and (-4,-3)




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0) and (-4,-3)

The line is not horizontal.



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0 ) and (-4,-3)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0 ) and (-4,-3)

oblique line
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0 ) and (-4,-3)

oblique line — y=mx +b



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0 ) and (-4,-3)

oblique line — y=mx +b
L, N

=X

m=



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0) and (-4,-3)

/ 3 X/ \Y2

Xy Yi

oblique line — y=mx +b

=4
m = =

=X




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0) and (-4,-3)

/ 3 X/ \Y2

Xy Yi

oblique line — y=mx +b

24 -3
m = —

=X




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0) and (-4,-3)

/ 3 X/ \Y2

Xy Yi

oblique line — y=mx +b

=N 39
m= X.— X =
2 1




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0) and (-4,-3)

/ 3 X/ \Y2

Xy Yi

oblique line — y=mx +b

=N 39
m=<—5 "4
2T X




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0) and (-4,-3)

/ 3 X/ \Y2

Xy Yi

oblique line — y=mx +b

o =N 39
=5 _x _ 42
XZ Xl




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0 ) and (-4,-3)

oblique line — y=mx +b

=¥
m=——=3=2 m=12
X,— X




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0 ) and (-4,-3)

oblique line — y=mx +b

Y, =Y
m=——=>-) m=12 b=?
X,— X e




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0 ) and (-4,-3)

oblique line — y=mx +b

Y, =Y
m=——=>-) m=12 b=?
L5 T

Use the point-slope equation.



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through (2,0 ) and (-4,-3)

oblique line — y=mx +b

Y, =Y
m=——=>-) m=12 b=?
L5 T

Use the point-slope equation.

Y=Yy = m(x—x)



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through ( 2, 0{ and (-4,-3)

Xy Yi

oblique line — y=mx +b

Y, =Y
m=——=>-) m=12 b=?
L5 T

Use the point-slope equation.

Y=Yy = m(x—x)



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through ( 2, 0{ and (-4,-3)

Xy Yi

oblique line — y=mx +b

Y, =Y
m=——=>-) m=12 b=?
X,— X e

2 1

Use the point-slope equation.
Y-y =mXx-x,)
y-0=



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through ( 2, 0{ and (-4,-3)

Xy Yi

oblique line — y=mx +b

Y, =Y
m=——=>-) m=12 b=?
X,— X e

2 1

Use the point-slope equation.
Y-y =mXx-x,)
1
y-0=7



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through ( 2, 0{ and (-4,-3)

Xy Yi

oblique line — y=mx +b

Y, =Y
m=——=>-) m=12 b=?
X,— X e

2 1

Use the point-slope equation.
Y-y =mXx-x,)
y-0=7(x-2)



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through ( 2, 0{ and (-4,-3)

Xy Yi

oblique line — y=mx +b

Y, =Y
m=——=>-) m=12 b=?
X,— X e

2 1

Use the point-slope equation.
Y-y =mXx-x,)
y-0=7(x-2)

y=



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through ( 2, 0{ and (-4,-3)

Xy Yi

oblique line — y=mx +b

Y, =Y
m=——=>-) m=12 b=?
X,— X e

2 1

Use the point-slope equation.
Y-y =mXx-x,)
y-0=7(x-2)

_ 1
Yy=xX



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

11. The line through ( 2, 0{ and (-4,-3)

Xy Yi

oblique line — y=mx +b

Y, =Y
m=——=>-) m=12 b=?
X,— X e

2 1

Use the point-slope equation.
Y-y =mXx-x,)
y-0=7(x-2)

y=%x—1



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

: =1x-1
11. The line through (2,0 ) and (-4,-3) Y™2

oblique line y=mx+b

Y, =Y
m=——=>-) m=12 b=?
X,— X e

2 1

Use the point-slope equation.
Y-y =mXx-x,)
y-0=7(x-2)

y=%x—1



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

: =1x-1
11. The line through (2,0 ) and (-4,-3) Y~2

oblique line — y=mx+b

Y, =¥
m=——=3= m=12 b=?
X,— X T

2 1

Use the point-slope equation.
y—-y=mXx-x)
y-0=7(x-2)

y=%x—1
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)

The line is not vertical.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)

The line is not horizontal.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)

oblique line
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)

oblique line — y=mx +b



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)

oblique line — y=mx +b
L, N

=X

m=



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)

N\

Xy Y1 X, Y,

oblique line — y=mx +b

=4
m = =

=X




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)

N\

Xy Y1 X, Y,

oblique line — y=mx +b

2= 4 -1
m = —

=X




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)

N\

Xy Y1 X, Y,

oblique line — y=mx +b

"N 4.1
m= X. — X =
2 1




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)

N\

Xy Y1 X, Y,

oblique line — y=mx +b

"N 1.1
m=35"—"5=3
RS




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)

N\

Xy Y1 X, Y,

oblique line — y=mx +b

"N 4.1
m = — 3-22
=X




General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through (-2,1) and (3,-1)

oblique line — y=mx +b

Y, =%
m=——=35— m=-2/5
L% -
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Write the equation of each line described.
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12. The line through (-2,1) and (3,-1)
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Use the point-slope equation.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through ( -2, 1\) and (3,-1)

Xy Yi

oblique line — y=mx +b

Y,=Y
m=——=31 m=2/5 b=2
X,— X -

2 1
Use the point-slope equation. Y-y =mx-x)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through ( -2, 1\) and (3,-1)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through ( -2, 1\) and (3,-1)

Xy Yi

oblique line — y=mx +b
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m=——=31 m=2/5 b=2
X,— X -

2 1
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through ( -2, 1\) and (3,-1)

Xy Yi
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12. The line through ( -2, 1\) and (3,-1)

Xy Yi

oblique line — y=mx +b

Y,=Y
m=——=31 m=2/5 b=2
X,— X -
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Use the point-slope equation. Y-y =mx-x)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through ( -2, 1\) and (3,-1)

Xy Yi

oblique line — y=mx +b

Y,=Y
m=——=31 m=2/5 b=2
X,— X -

2 1
Use the point-slope equation. Y-y =mx-x)
y—1=F(x+2)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through ( -2, 1\) and (3,-1)

Xy Yi

oblique line — y=mx +b

Y,=Y
m=——=31 m=2/5 b=2
X,— X -

2 1
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

12. The line through ( -2, 1\) and (3,-1)

Xy Yi
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Y,=Y
m=——=31 m=2/5 b=2
X,— X -
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Use the point-slope equation. Y-y =mx-x)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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12. The line through (-2,1) and (3,-1) y=3zx+ %

oblique line — y=mx +b

Y,=Y
m=——=31 m=2/5 b=2
L% -
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

2
12. The line through (-2,1) and (3,-1) y=3zx+ %

oblique line — y=mx+b

Y,- Yy
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

13. Line a:

A
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

13. Line a:

AY
oblique line — y=mx+b
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

13. Line a:

AY
oblique line — y=mx+b
through (-4, 2) and (4, 6) i
- &
_2Th 62 m=1p2
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

13. Line a:

A
oblique line — y=mx+b
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P
2N -2 _
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2 1
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

13. Line a:
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P
2N -2 _
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

13. Line a:

A
oblique line — y=mx+b
through (-4, 2) and (4, 6) i
P
2N -2 _
m=_—— =49 m=1/2 &< + -

2 1
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

13. Line a:

A
oblique line — y=mx+b
through (-4, 2) and (4, 6) i
P
2N -2 _
m=_—— =49 m=1/2 &< + -

2 1

Y=Yy = m(x-x)
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

13. Line a:

AY
oblique line — y=mx+b
through (-4, 2) and (4, 6) i
=
NN -2 —
m=X2_X1=m m=1/2 &< + -
y—y; = m(x —xy) g
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

13. Line a:

AY
oblique line — y=mx+b
through (-4, 2) and (4, 6) i
=
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1
y_Z_EX-I_Z



General Algebrall CWS#2 Unit 2

Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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AY
oblique line — y=mx+b
through (-4, 2) and (4, 6) i
P
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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AY
oblique line — y=mx+b
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P
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

1
13. Line a: y=3xt4
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e
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m=X2_X1=m m=1/2 &< + -
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

1
13. Line a: y=3xt4

AY
oblique line — y=mx+b
through (-4, 2) and (4, 6) i
e
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

14. Lineb:

AY
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t t
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

14. Lineb:

AY
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< ;
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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Write the equation of each line described.
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Write the equation of each line described.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

15. Line c:

AY
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through (2, 0) and (-7, 6) -
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

15. Line c:
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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Write the equation of each line described.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

15. Line c: AY
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Write the equation of each line described.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.

15. Line c: AY
oblique line — y=mx+b \\\ 5
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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Write the equation of each line described.
If the line is oblique, use slope-intercept form.
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oblique line — y=mx+b A §

2 1
. //
Y-y =mXx-x,) 5
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